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Ideals for irreducible component#ﬂ)f Xpar

I = (—9.06380 x 10%5u*! + 1.37425 x 102844 + ... +2.41942 x 10%®b — 1.11983 x 10%,
—3.26749 x 10280 — 3.64396 x 102840 + ... 4 2.66137 x 10%%a + 8.28132 x 10%?,
u? 4 2ut o — 46u + 11)

I = (u" —5u® + Tu +b—2u, u” —5u’ + 7u® —u® 4+ a—2u+2,
u'? +utt — 8ul® — 7u® + 2408 + 170" — 33u’ — 16u° 4 20ut + 4ud — 4u? —u — 1)

* 2 irreducible components of dim¢ = 0, with total 54 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} = (—9.06 x 10*°u*" 4 1.37 x 10%8u*® 4 ... + 2.42 X 10%®b — 1.12 X

10%9, —3.27 x 10%8u*! — 3.64 x 1028440 4 ... 4 2.66 X

1029, w42 4 2u*! 4 ... — 46u + 11)
(i) Arc colorings
0
a7 == u
1
ail = \0
1
a1 = U2
—Uu
ag = \—ud +u
—u? +1
a1 = \ —qut 4+ 242
0.122775u*! + 0.136921u* + - - - +9.26541u — 3.11168
a3 = \0.00374626u*! — 0.568007u%0 + - - - — 19.2584w + 4.62848
u
ag = U
0.552701u*! + 0.271165u* + - - - — 10.9013w + 2.02390
a2 = \0.433672u*! — 0.433763u*0 4 - - - — 39.4251u + 9.76406
1.16210u*t + 1.69216u%0 + - - - 4 6.54468u — 3.34003
as = \0.919505u*! 4+ 0.221580u*0 + - - — 40.9514u + 10.5711
1.17084u*t + 1.34160u0 + - - - — 4.55540u — 2.12767
a10 = \ 1.14646u** + 1.21035u0 + - - - — 7.23546u — 2.71408
0.785947u*! + 1.09699u*° + - - - + 0.412589u — 1.16966
ag = \0.634717u*! + 0.515957u*0 + - - . — 23.4534u + 6.67222

—1.45613u*! — 1.65616u*® + - - - 4+ 6.43111u + 2.36059
a9 = \ —1.31980u*! — 1.39650u*® + - - - + 8.42549u + 3.12293

(ii) Obstruction class = —1

10%%a + 8.28 X

)

(iii) Cusp Shapes = 0.0586366u*! + 0.331503u* + - - - + 5.71695u — 17.0612



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u? —2u* 4. —45u — 1

ca,C5 u*? + 3ut + -+ 3244u + 611

€3,C10 u? Futt 260+ T

Cq,C8 u?? —3ut 4 422204+ 79

€6, €7, C11 u? — 2u 4o 4 46u + 11
C12

€ u? utt o —48u -1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 Y+ 34yM + .. — 3015y + 1

€2, Cs Y2 —29y* + ... — 6104784y + 373321

€3, C10 y*? 4+ 43y* 4 - — 1208y + 49

C4,C8 Yyt — 37y 4 .. — 146770y + 6241

€6, €1, €1 y*? — 52" + - — 2050y + 121
C12

Co y*? 4+ 39y* ... — 3522y 4+ 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.221678 + 0.9296191
a= 0.236802 + 0.1440061
0.200628 + 1.3791201

—0.23479 4 3.424521

—7.25006 — 2.367881

u= 0.221678 — 0.9296191
a= 0.236802 — 0.1440061
0.200628 — 1.3791201

—0.23479 — 3.424521

—7.25006 + 2.367881

u = 0.834678 4 0.7266501
a= 0.942471 + 1.0387201
b= —0.32235 + 1.470041

—2.09585 — 8.884921

—8.23343 + 6.338391

u = 0.834678 — 0.7266501
a= 0.942471 — 1.0387207
b= —0.32235 — 1.470041

—2.09585 + 8.884921

—8.23343 — 6.338391

u= 0.839481
a = —0.147245
b= 0.446812

—1.61731

—3.83040

u = —0.649459 4 0.5287351
a= 0.425369 — 0.2212097
b= —0.883358 — 0.3313811

3.71527 4 4.571781

—4.48983 — 6.214381

u = —0.649459 — 0.5287351
a= 0.425369 + 0.2212091
b= —0.883358 + 0.3313811

3.71527 — 4.571781

—4.48983 + 6.214381

u = —1.205320 + 0.0864801
a = —0.45359 + 1.355607
b= 10.093741 + 0.9917331

—4.64795 4 1.970261

—11.59090 — 3.858001

u = —1.205320 — 0.0864801
a = —0.45359 — 1.355601
b= 10.093741 — 0.9917331

—4.64795 — 1.970261

—11.59090 + 3.858001

u = 0.550462 + 0.5409151
a = —1.409400 — 0.0434701
b= 0.125351 — 1.3596801

—6.87451 — 1.886261

—7.91284 + 3.721931




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= 0.550462 — 0.5409151
—1.409400 + 0.0434701
0.125351 + 1.3596801

—6.87451 + 1.886261

—7.91284 — 3.721931

—0.560203 + 0.4406381
= 1.43565 — 1.008211
—0.04993 — 1.588081

—7.60002 + 1.565741

—5.17924 — 4.636041

= —0.560203 — 0.4406381
1.43565 + 1.008211
—0.04993 + 1.588081

—7.60002 — 1.565741

—5.17924 + 4.636041

—0.334964 + 0.6273071
—0.026307 + 1.1765301
0.577071 — 0.1443801

4.67940 — 0.632891

—1.299354 — 0.2113421

—0.334964 — 0.6273071
—0.026307 — 1.1765301
0.577071 + 0.1443801

4.67940 + 0.632897

—1.299354 4 0.2113421

—1.244160 + 0.4657801

= —0.79090 4 1.184541 —4.81553 + 1.497021 0
= —0.025737 + 1.3026601
= —1.244160 — 0.4657801
= —0.79090 — 1.184541 —4.81553 — 1.497021 0

—0.025737 — 1.3026601

0.595320 + 0.2154761
0.20407 — 3.296801
0.272977 — 1.2037601

1.45303 — 2.422111

—8.67176 + 3.959051

0.595320 — 0.2154761
0.20407 + 3.296801
0.272977 + 1.2037601

1.45303 + 2.422111

—8.67176 — 3.959051

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l Q& 8|l & 8|l & 8|l & 8| & &g

1.42044 + 0.217541
= —0.455901 + 0.7641791
= —0.205009 + 0.1094181

—0.93890 — 2.373651




Solutions to I} Vv—1(vol + +/—1CS) Cusp shape
u= 1.42044 —0.217541
a = —0.455901 — 0.7641791 | —0.93890 + 2.373651 0

b = —0.205009 — 0.1094181

w=0.509507 + 0.2310071
0.734692 — 0.7877671
b= —0.636452 — 1.0341501

1.69283 + 0.801571

—9.60902 + 2.159961

w=0.509507 — 0.2310071
0.734692 + 0.7877671
b = —0.636452 + 1.0341501

1.69283 — 0.801571

—9.60902 — 2.159961

u = —0.506114
a = —1.86988 —2.40722 5.24600
b= 0.407424

u = —1.56067 4 0.051901

b= 0.15580 — 1.700951

= 0.204618 — 1.0910201 | —5.42360 + 0.169961 0
b= 0.907751 — 0.9967051
u = —1.56067 — 0.051901
0.204618 + 1.0910201 | —5.42360 — 0.169961 0
b= 0.907751 + 0.9967051
u= 156797
= 0.157767 —9.60649 0
b = —0.854086
u = —1.58059 + 0.155701
0.76812 — 1.503031 —14.1195 + 4.40841 0
b= —0.36026 — 1.392381
u = —1.58059 — 0.155701
0.76812 + 1.503031 —14.1195 — 4.40841 0
b= —0.36026 + 1.392381
u=1.58699 + 0.122061
a = —0.62381 — 2.203991 —14.9835 — 3.59681 0




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= 1.58699 — 0.122061
—0.62381 + 2.203991
0.15580 + 1.700951

—14.9835 + 3.59681

—1.59898 + 0.063311
—0.27626 — 2.556531
—0.08483 — 1.427921

—6.19779 + 3.449571

—1.59898 — 0.063311
—0.27626 + 2.556531
—0.08483 +- 1.427921

U
a
b
U
=
b
U
a
b

—6.19779 — 3.449571

1.59624 + 0.148551
= 0.294078 — 0.6481911
1.115930 — 0.4716021

—3.89460 — 7.043061

1.59624 — 0.148551
0.294078 + 0.6481911
1.115930 + 0.4716021

—3.89460 + 7.043061

0.230807 + 0.2880011
0.966776 + 0.3114821
—0.188196 + 0.4894881

—0.234295 — 0.8339621

—5.60412 4 8.299901

0.230807 — 0.2880011
0.966776 — 0.3114821
—0.188196 — 0.4894881

U
a
b
U
a
b
U
a
b
U
a
b

—0.234295 4 0.8339621

—5.60412 — 8.299907

u = —1.66654 + 0.226091

a = —0.61931 + 1.922911 —10.5286 + 12.57191 0
b= 0.40841 + 1.584001
u = —1.66654 — 0.226091
a = —0.61931 — 1.9229171 —10.5286 — 12.57191 0
b= 0.40841 — 1.584001
u = —1.69539
a = —0.0379052 —10.7530 0
b= —0.681558




Solutions to I}

V=1(vol + y=1CS)

Cusp shape

= 1.75180 4+ 0.083641
0.43693 + 1.850111
—0.26084 + 1.405961

—15.4551 — 3.44341

U
a
b
U
a
b

1.75180 — 0.083641
= 0.43693 — 1.850111
= —0.26084 — 1.405961

—15.4551 + 3.44341




IL 1Y =
(W —5u® +Tud+b—2u, u" —5u°+7Tu —u?+a—2u+2, u?+ult+...—u—1)

(i) Arc colorings
o (1)
an = )
1
u?
o)

—u?+1
ut + 2u?
u+5u —Tud +u? 4 2u—2

(o
=
(-}
(-
we (TEEETALT)
(
C
(-
o=
ol

ag =

ayp =

U
ag = U
u’ +5u —Tu® +3u? 4 2u—2
—u’ 4+ 5ud —ut — Tud + 2u? + 2u
wl® + 7ud —u” — 17u8 + 5u® + 16u* — 8u® — 4u? + 5u
—ul0 4+ 708 — " — 17u8 + 44 + 16u? — 4ud — 4u? +u
u® + Tu” —17u + 17u® — 6u
wd —2u—1

ag =

—u10 4 78 — 17ub + 16u* — 4u?
( —9u° + 306" — 45u® + 30u® — Qu — 1)
ag =

—u—1

wl® + 708 — u” — 17u’ + 6u® + 16u* — 11u® — 4u? +6u>

(ii) Obstruction class =1

(iii) Cusp Shapes = —u!'t + 6u” +u® — 100" — 10u® — u® + 29u* + 10u® — 27u? +u —7
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u'? — w4+ 30l 4+ 30" — 208 —w —ut — 4w —u 2u+1
€2 ul? 4 2utt — % —40® —u® — " — 208 + 30 +ut 4+ 30 —ut1
s u'? + 7u® +19u® — o + 2508 — 40’ + 16u* — 5ud + 3u® —3u—1
¢4 ul? — 2ut — w0+ 40® — 308 + 4u” — Tud + 4ut — Tud 4+ 8u? + 3u—1
¢ ul? — 2utt —ul 40® — B " — 208 —3uS Ut + 3+ ut1
Cp, C7 u? —utt o fu—1
Cs u'? 4+ 2utt — ut® — 40® — 308 — 40" + Tud + 4ut 4+ Tud + 8u? — 3u—1
€9 u'? +3u' —u® — 20" — 8ub 4 Tu® — dut + 150 +4uP +u—3
c10 w? + 760 + 1948 + " + 2568 + 40’ + 16ut + 50 + 3w + 3u—1
C11,C12 w4 —u—1

11



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 Yy 5yt =6y + 1
¢, s Y2 6yl 4By 1
€3, C10 Yy 4+ 1yt 15y +1
c4, Cg Yyt -6yt 4. 25y 4+ 1
C6,C7,C11 y12717y11++7y+1
C12
09 y12+6y11+'_25y+9
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

0.686882 + 0.3563611
a = —1.57192 — 1.033041
b= 0.08327 — 1.522601

u =

—8.42506 — 1.235131

—14.9695 + 0.52321

uw= 0.686882 — 0.3563611
= —1.57192 4 1.033041

—8.42506 4 1.235131

—14.9695 — 0.52321

b= 0.08327 + 1.522601

u = —0.697854

a = —1.27667 —2.77397 —17.7110
b= 0.236332

u = —1.350010 + 0.1657271
a= 0.122773 + 0.4223381
b= 0.327726 + 0.8698041

—1.87314 + 3.358891

—9.63200 — 3.882611

u = —1.350010 — 0.1657271
0.122773 — 0.4223381
0.327726 — 0.8698041

—1.87314 — 3.358891

—9.63200 + 3.882611

u=1.43456 4 0.196551
a= 0.38745 + 1.667841
0.368130 + 1.1039201

—2.74104 — 0.623451

—17.00640 — 0.329901

uw= 143456 — 0.19655]
a= 0.38745 — 1.667841
0.368130 — 1.1039201

—2.74104 + 0.623451

—7.00640 + 0.329901

u = —0.076876 + 0.3520571
= —2.49621 4 0.926251
b= —0.378175 + 0.9803751

2.45499 — 1.464731

—3.28668 + 1.828901

u = —0.076876 — 0.3520571
a = —2.49621 — 0.926257
b= —0.378175 — 0.9803751

2.45499 + 1.464731

—3.28668 — 1.828901

u= 1.67252
a= 0.219784
b= —0.577555

—11.3408

—16.0060

13



Solutions to I3

V=1(vol + y=1C)

Cusp shape

= —1.68189 4 0.109911
= 0.58634 — 1.914391
—0.23034 — 1.544671

—16.9020 + 3.10921

—14.7470 — 0.92681

—1.68189 — 0.109911
= 0.58634 + 1.914391

U
a
b
U
a
b= —0.23034 + 1.544671

—16.9020 — 3.10921

—14.7470 + 0.92681

14



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
c1 (u'? — w4+ 300 4 u® 4 30" — 2u —u® —ut —4u® — w4 2u 1)
c(u*? = 2utt 4o —45u — 1)
o (u'? +2u" — u'® —40® —u® —u” —2u8 + 3u° +ut + 3u? —u+1)
(w4 3utt 4 - 4 32440 + 611)
cs (u'? + 7ut® + 19u® — o7 + 25u° — 4 4 16u* — 5u® + 3u® — 3u — 1)
(Pt =260+ T)
cs (u'? — 2u™ — u'® 4 40® — 3u® 4 4u” — Tu® + 4t — Tud + 8u® 4 3u — 1)
S(u*? = 3utt - 42220+ 79)
cs (u'? — 2u™ — u'® 4 40u® —u® +u” —2u8 — 3u® +ut +3u Fu 1)
S(u?? 4 3utt 4 - 4 32440 + 611)
Ce, C7 (u'? —u!t b — 1) — 20t 46w+ 11)
cs (u'? + 20 — u'® — 40® — 3u® — 4u” + Tud + 4t + Tud + 8u? — 3u —1)
S(u?? = 3utt - 42220+ 79)
Co (u'? + 3u'® — u® — 20" — 8ub + Tu® — 4ut + 150 4 4u® + u — 3)
(Pt o —48u 1)
c1o (u? 4+ 7ul® + 1968 + w7 + 2508 + 4u® + 16u* + 5ud + 3u? + 3u — 1)
(Pt =260+ T)
C11,C12 (w? +utt 4 —u— 1) (u*? = 2uM 4 - 46u + 11)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 (y" +5y" 4+ — 6y + 1)(y** +34y* + - — 3015y + 1)
¢, C5 (2 — 6" + - + 5y + 1) (y*? — 299" + - .- — 6104784y + 373321)
¢, C10 (y'2 + 14y + - — 15y + 1) (y*2 + 43y* + .- — 1208y + 49)
C4, €8 (y'? — 6yt + - — 25y + 1) (y*2 — 37y + - - - — 146770y + 6241)
06,07,2; (y12 _ 17y11 +e Ty + 1)(;1/42 _ 52y41 + -+ — 2050y + 121)
€9 (y"2 + 6y + - — 25y + 9)(y** + 39y 4 -+ — 3522y + 1)
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